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3. Algebra 1: Writing Linear Equations

Study Guide and Assignment
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Mo. Study Guide Assignment
1 Write the equation that has a slope of -1 and a ¥ = | Write the equation that has a y =intercept of 0 and a slope
intercept of 4. of 4/3.
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2 | Write the equation of the line that runs through the | Write the equation of the line that has a slope of 2 and

point (—2,5) and has a slope of -3
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contains the point (1, -2).
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3 | Write the equation of the line in Slope — Intercept form | Write the equation of the line in Slope — Intercept form that
that contains the points (3, —7)and (13,—3) contains the points (—3,1)and (3.9).
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4 | Write the equation of the line in Slope — Intercept form
that contains the following points.

x y
(74 0f
\ 8 3)
12 | 6
18 g P

Write the equation of the line in Slope — Intercept form that

contains the following points. )
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5 | Which line Is perpendicular to the line y = 23/ 57
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A) y=-2x+1

B) y=éx—ﬁ-
C) y=—2x+11
D)y y=2x—6

Which line is perpendicular to the line

y=—6x+42 Mz - W"z:,’-
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A} y=—-6x+6
By y=6x43
C) y=—-x—-4

6 | Write the equation of the line that goes through the
points (6, —4) and that is parallel to the line
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Write the equation of the line that goes through the points

(—4,—4) and that is parallel to the line
y=3x-5 -
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7 | Write the equation of the line in Slope — Intercept form
of the line that is perpendicular to
v = 3x — 5 and passes through the point (-9, -2)
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Write the einc:n of the line in Slope — Intercept form that

is perpendicular to the line ¥y = —4x + 5 and contains the

point (-162) Y], Z - My = y‘?‘
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